
ASSEMBLY INSTRUCTIONS – FU10416 
RAINBOW TUNNEL. 

  TTS Group Ltd – Building 1, Heyworth Road, Hucknall, Nottinghamshire, NG15 6XJ United Kingdom. www.tts-group.co.uk        Tel:0800 138 1370 

 

PLEASE NOTE THAT ASSEMBLY WILL NEED AT LEAST TWO ADULTS. 

1. CHECK ALL PARTS ARE PRESENT. 

2. SELECT SUITABLE POSITION ON FLAT, LEVEL GROUND. 

3. LAY BASE ON GROUND. 

4. PLACE LEFT SIDE PANEL (WITHOUT ROOF) AND RIGHT-SIDE PANEL (WITH ROOF) TOGETHER ON TOP OF THE FLOOR. ENSURE BOTH PANELS SLOT 

TOGETHER WITHOUT ANY GAPS. SCREW BOTH PANELS TOGETHER USING 4 X 60MM SCREWS ON THE INSIDE AND  4 X 80MM ON TOP THROUGH 

THE PRE-DRILLED HOLES. SEE PICTURE.  

5. SCREW THE PANELS TO THE FLOOR USING 4 X 100MM SCREWS ON THE OUTSIDE AND 8 X 70MM SCREWS ON THE INSIDE THROUGH THE RAIL 

ATTACHED TO THE FLOOR. SEE PICTURES. 

6. PLACE THE RAMPS ON BOTH SIDES OF THE FLOOR (SEE PICTURE) SCREW THE RAMPS TO THE FLOOR USING 10 X 40MM SCREWS THROUGH THE 

PRE-DRILLED HOLES. SEE PICTURE.  

 Fig. 1                                                               Fig. 2                                                               Fig. 3                                                                       Fig. 4  

                                                                                

 

tel:0800


ASSEMBLY INSTRUCTIONS – FU10416 
RAINBOW TUNNEL. 

  TTS Group Ltd – Building 1, Heyworth Road, Hucknall, Nottinghamshire, NG15 6XJ United Kingdom. www.tts-group.co.uk        Tel:0800 138 1370 

  

Fig. 5                                                                  Fig. 6                                                               Fig. 7                                                              Fig. 8 

                                                         

 Fig. 9  

tel:0800


ASSEMBLY INSTRUCTIONS – FU10416 
RAINBOW TUNNEL. 

  TTS Group Ltd – Building 1, Heyworth Road, Hucknall, Nottinghamshire, NG15 6XJ United Kingdom. www.tts-group.co.uk        Tel:0800 138 1370 

   

Parts List: 

• BASE. 

• TWO SIDES. 

• RAMP 

• FIXING SCREWS: 

10 x 40mm Screws 

4 x 60mm Screws 

8 x 70mm Screws 

4 x 80mm Screws  

4 x 100mm Screws 

 

Tools Required 

• DRILL  

tel:0800

